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SEMMOHERXREHRFE
3 —2 @EYIEAT HLMESNLHEIES HBBEA/) | sAmgrE | 72 rd
2MEREONE | EFRES 08581007 |  ®&me | AR | FifE | FREFE AN L L
SERMO TiRICHET 51 H# SEMHEA
;ﬁgg TREDBBDEILNDKRES TEEDHBEESENDRES TEEDOBBOESLADKRES TREDHBEESIEADKRES
B2 oma O TR B TR W | = | T [PRRPER R B [PREPERLTS e
S 100kN/m%&HBZ 5| 1Loo| ooo~ 068 110.14|3mEBZB| - ~ - - - 100kN/m%E8B 25| 100| 1269~ 1608 110.14|3mEBZ 5| - ~ - - -
Zzh st 1.00| 068~ 847 10000 FNAS | 000~ s47| 210 10.60 Zn st 100l 500~ 1269 10000 FNLSY | 500~ 1608 210 10.60
B 100kN/mM%#B25| - - o~ - - 3ImEBAB| - ~ - - - 100kN/m%#25| - - o~ - - ImEBADL| - ~ - - -
zhst 100 000~ 707 so.72| FRS | 000~ o000l 177 896 zTh st Loo| 500~ 885 s9.72| FNLSY | s00~ 885 177 8.96
; 100kN/m%#B25| - - o~ - - 3SmEBAB| - ~ - - - 100kN/m#=#825| - - o~ - - ImEEBAL| - ~ - - -
ZThish 100l 000~ 559 6987 FhLASL | ooo~ 559 197 9.94 Fhs 100l 500~ 686 6987 FNLSN | 500~ 685| 197 9.94
p 100kN/m#B25| - - o~ - - 3ImEBAL| - ~ - - - 100kN/m%#B25| - - o~ - - 3mEERL| - ~ - - -
Zzh st 1oo| ooo~ 577 72221 TS | ooo~ 577 196 9.93 Fhs 100l 500~ 715 72221 TS | s00~ 715 196 9.93
5 100kN/mM%#E25| - - o~ - - ImEBAB| - ~ - - - 100kN/m#%825| - - o~ - - ImEHEZS| - ~ - - -
Zzh st 100 000~ 495 6167 FhAsh | o000~ 495 198 9.99 Zhn st 100l 500~ 588 6167 TS | 500~ 588 198 9.99
p 100kN/mM%#B25| - - o~ - - 3ImEBAB| - ~ - - - 100kN/m%#E25| - - o~ - - ImEBAL| - ~ - - -
Zzh st 100 000~ 467 5818 Fn LAt 000~ 000 162 818 Zhn st 100 500~ 500 5818 Fn LAt 500~ 500 162 818
100kN/ Mm% %3 ~ 3mEERD ~ 100kN/m% 8% % ~ ImEB25 ~
Thist ~ Thilst ~ FnLst ~ Fhst ~
100kN/m% B2 5% ~ 3mEHEAD ~ 100kN/m% B2 % ~ ImEB2D ~
Thist ~ Thilst ~ Thn st ~ Thilst ~
100kN/m% B2 5% ~ 3mEHEAD ~ 100kN/m% B2 5% ~ ImEHBZS ~
zh st ~ zThs ~ zh s ~ zhos ~
100kN/ Mm% % 3% ~ ImEBZD ~ 100kN/ Mm% %5 ~ ImEHBZS ~
zh st ~ zhos ~ zhLst ~ zh st ~
100kN/m%#B% % ~ 3mEERD ~ 100kN/m% 8% 3% ~ ImEB25 ~
Thist ~ Thilst ~ Th st ~ Thist ~
100kN/m% 8% 3% ~ 3mEHERD ~ 100kN/m%#BZ5 ~ ImEHZD ~
Thist ~ Thilst ~ TnLst ~ Thilst ~
100kN/m% B2 5% ~ 3mEHEZD ~ 100kN/m% B2 5% ~ ImEHBZ5 ~
zh st ~ Ths ~ zh st ~ zhost ~
100kN/ Mm% %3 ~ 3ImEBZD ~ 100kN/ Mm% %3 ~ ImEHBZS ~
Thist ~ Zhist ~ FnLst ~ Thst ~
100kN/m% 8% 3% ~ 3mEHERD ~ 100kN/m% 8% 3% ~ ImEB25 ~
Th st ~ Thilst ~ zhust ~ Th st ~




